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1.

<f

4.

YATHTAH @B 9 GE5 8 7
A. HHERY HHY

B. Tg&Y w9
C. 3@dmE w9rd

D. agdif a9

Frfefaa aea—aoem goil & 9 @ e |

gafera =181 8 ?
A. IRHIMED
B. 3FTSI-3FH

C. 3rf—3pya
D. U3

‘gar g wTeT &1 e & ?

A. Z4 B. 9§

C. B D. gl

aol @1 gfte § g I B qIT D
A. 3R B. aifeam

C. ™ D. #He®

9.

10.

11.

12,

frifeae araisi & forg ve oe ¥
W B 1 gaferd @l 82

A. i 9o % @R & — quiERi

B. Wil <@r 78l o Wabhal — 3G

C. i snfAy &l @rer — aifay

D. W 9exm &ar & — wed

fr=faRea o=t 9§ 9 Eifer = Bifey |
A. TUIET B. 7
C. TUET D. o

fFr=foflea gl # 9§ w5 argg 9

UBEH HIfT |

A. 9 g9 9SRIN, | 98 Yo |

B. WR® < @1 u3 foraar g

C. W 39 9Rem &1 Sewm & fb gden
H 3w 3P U T |

D. wd ff 99 fard & Saar £
H HOUT | WY Wl 2|

ferferfiae % @ fabwr Heray @ o wififer
BHTE 87

A. UHI-UFT B

B. JUA—AT H& o I8 Wl

C. TH-H H& od &

&1 3 T8 B? G
il 5. e D. H& # il 31
T s A 13. fRm fore & wa @ sfie 9 sge
7. e Rdm g & 999 Hif | CICREERIEA
A. FII-TR B, vad-ariead A. T9, B a1, W1 e
C. F-a% D. uUR&—efes B. $u—d, 3MR-¥E, |a @
farrores Yt # |
8. aﬁmwwmﬂaw & o e A
A. IRfEHw Afe -
B. 3R fremam D. TEGER FT FEd, 980 FW a5
C. T HH &5 ST |
D. RLET, 57
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14, '3MET OAY AW G ADIND B

aref 87
A, 99 Al @1 wiEesor)
B. Gaw [fEar

C. g a5 |
D. |AE Hl &1 {57

15. ‘diferar g s &1 wreg 87
A. gl B.
C. f&h D. ¥%

16. T=feIRaa # | @19 91 aoHT B &1
g el 87
A. TPIerd aaq=
B. gl g9+
C. dfcy gaaH
D. RgHq adT

PSG1
fe v TEY @ MR WR 9y GeEn
17-20 9F & I §IfT |
TS A AFET WITEE B BRY T8
A5 @ 91y 21| 9EE Ie-ue ure
FY ATAT IR HEg Bl ey |

I8 9ga 991 a1 @1 | W e A s

Wt geax et fbar| Sue 3
S DI UET IRE R 9T i
M-S & foU T Slem IR T8

FegEcTT 9 a4 a1 5e 9 @ |

R 3T BY B{Y € HHY I AT| I
39 NG Y & W T A
BT ©7 1T | o g faameer 3% e
IGH WA 14 a8 ufg-fREnT & arg
@1 Y& T T8l B Wbl | TdiGa Bl

e B & o offen awmEs s |

@l B forg, 30 YE—Haw W U
oTa o 9wt & foru sivef anfe =i
& E-vrer # gRgdar!

17.

19,

FEAY] XM WY gHarT & forg @
q?

A. TG @ W & for |

B. fiar @& awsn & &RoT|

C. 92 & wf safs 99 & onor|
D. Sffen & @ W™ & o |

oRgd B FAT W 87

A. IHEE ST BISHR gAY B
el Y |

B. @R A WIg VW % G gEary @
el TV |

C. Stem @1 vl | @gr 8 |

D. wEaaRl A Sffen & fAvg 4 g9
=8l fordrn |

Sfienm ¥ & aferg= 8t fean?

A. @ 9 fae

B. o qg tar &1 faanT e

C. &&HqU &I WHEg % A 99419 &
o o fow |

D. wfaRe gt &1 @ |

FEA I ARG Y& F Gad I

39 | B o 1”59 Uitk ¥ oas

T T a9 & ?

A. Sfiem & £ ey @& aTRr @ @l
dmrg A8 e |

B. sfiem of 7O« ¥ ot & 9 &
& $ T BT G |

C. Sfier &1 agi 989 W= & f{anT
BT HEq HAT UL |

D. 9% faarg & fuar & e~ 4 ufa 78
3 TS |
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21. Three of the following four optionsare | 21, &1 91 @&l 4 9 O f&f vdR @
alike in a certain way and one is A § SN UH R B | ST Bl
different. Pick the odd one out. fafea & |
A ey = . M2 ey o) o K8

- EHO B EE - EHO B EG
R 53 AT G
i e P Ee - HEe P EOe

22. Select the option in which the terms 99 E‘Eﬁﬂﬁ?ﬂf{ﬁmﬁq@i%ﬁﬂﬂﬁﬁﬁ%
share the same relationship as that off & 0 ug g & 99 B
shared by the given pair of terms. it 4
Square : 4
A. Decagon :5 B. Pentagon:9 A TS : 5 B.uoqw : 9
C. Hexagon :7 D. Octagon : 8 C. ugud 7 D. 3y - 8

23. Select the option in which the words | 23. @& fawey g+ o w=l & 49 &
share the same relationship as that ey 2 & @3 T v g B 4™ 2
shared by the given pair of words. HITS: foeame
Paper : Book
A. Phone:Talk  B. Wheel: Car A. BT : Fel B. ufear : BR
C. Metal:Coin  D. Loan: Interest C. ®rq : e D. 0T : &7

24. Select the number that can replace the | 24. @& @& g oif fFriferfaa ot # v
question mark (?) in the following series. fre (?) =1 w1 o W@ 2|
512,768,1152, 1728, ? 512,768, 1152, 1728, 7
A. 2888 B. 2172 A. 2888 B. ‘2172
C. 2482 D. 2592 C. 2482 D. 2592

25. Select the number that can replace the | 25. 8 W& g4 i f=ifaftaa 2t 7 wea
question mark (?) in the following fore (?) &1 ®F & wah 8|
series. 511,255, 7,63, 31,15, 7
511,255, 7,63,31,15,7
A. 124 B. 127 A. 124 B, 12}

r C. 175 B . 125 Bl ¥ e D, 125
10510804505 PA/AE
O
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26. Three of the following four options are
alike in a certain way and one is different.
Pick the odd one out.

) O,
A, [=]@® B. [»]™

O,
¢ F® D EHE

27. Which of the options would be the sixth
figure in the following series?

B C|(G HI|[L Mma RV W

a F k P u
E plla i1lle wNllT 8|y x
1 2 3 4 5
A A B B B A
4 F 4
D C ke p
A B b C
z '
'C. D c D. A B

28. Select the fraction that can replace the
question mark (7) in the following

e s43216 8 4,
9°27°81°243° 729"

2 1
A. 1539 B. 3557
i g e
C. 1539 B, 2087

29. Which of the following words can be
formed using all of the letters
EEELLPSSS, but none other?

A. STEEPLESS B. SPELLSETS
C. SLEEPLESS D. EPISTLES

26. =9 UR fapeai # | O 0 voR 9§
TAF # 3R UE I B SR @
ferfaet @)

O (2
A [E® B GG

O ()
C E® D EEO

27. & 7 e W B W W B Al fAwe
o 7

B C|(@ H||IL Mila R|lV W
n F k P u
i} i||0O X
1 2 3 A4 5
A B A
A z B. Z
D cC D
A B D C
Z F 4
Cosne o B, &8

28. @8 f=1 g ot Frsferfaa Al % wea
fore (7) @7 W= o e & |

643216 8 4 ,

9°'27'81'243° 729"

2 |

A. 1539 B. 3187
L -
C. 1519 D.. - 2187

20, 3?"-'! d ®IF 9T 7= $ad EEELLPSS
R} T TANT P I AT HHdl & 2

A. STEEPLESS B. SPELLSETS
C. SLEEPLESS D. EPISTLES

30. Three of the following four letter- 30, & ¥R &R — P A | A
clusters are alike in a certain way and YHR H HAH & U I ¥ |
one is different. Pick the odd one out. a1 fafed &Y |
A. CHSX B. IKPR A. CHSX B. IKPR
C. DIQW D. AFWZ C. DIQW D. AFWZ

PA/AE 10510804506
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31. Select the letter-cluster thatcanreplace 31, 9% 3ER—GHg 1 ol fAwifoiiad H@en
the question mark (?) in the following # e — 2e0) F1 WM o e 2|
series. LJB, N1Y, PHV, RGS, TFP ?

LIB, N1Y, PHV, RGS, TFP, ?
A. VEM B. VEN A. VEM B. VEN
C. WEM D. VFM C. WEM D. VFM

32. If DAMSEL is coded as AEDLMS, | 32. If@ DAMSEL @ AEDLMS % &Y #

how will VALOUR be coded as? Fcdg far a1 8 @ VALOUR &
f¥ UBR Heasg fdar smgmn?

A. AUVROL B. AOULRV A. AUVROL B. AOULRV

C. AVUROL D. AROUVL C. AVUROL D. AROUVL

33. Select the option in whichthenumbers 33, @ fawey g+ forad @] S waR
are related in the same way as are the Iaw # e & o fRA T g weE
numbers in the given sets. # Wl w4 8 |
(6, 15,30) and (12, 14, 84) (6, 15, 30) 37 (12, 14, 84)

A, (12,16.32) .. B. (16,12, 36) A, (12,16,32) B. (16,12,36)
C. (12,16,48) D. (16,12,72) C. {12,16.48) D. (16,12 72)

34. Select the option in which the numbers =~ 34. 98 fa®cu g+ s sy 9@ gan
are related in the same way as are the o # walgd € o g v g H
numbers in the given pair. HeEU Hefd € |
(7,343) (7,343)

A, (5.125) B. (4,16) A. (5,129) B. (4,16)
C.(3.81) D. (25,125) C. (3.81) D, (25,123)

35. If oats are called carrots, carrots are | 35. AfR T PI MOR &1 T 8, TR B
called blimps, blimps are called flowers, feerq wer o 8, ferm @1 wel b
flowers are called stones, stones are I 8, el &I YR HEl Sl 8, Ueer
called balloons and balloons are called & AR BET WAl SR AR @
toys, then what do buds bloom into? Racti=r Fer wirar &, o sferdl Raeax

T I 87
A. Flowers B. Balloons A. Tt B.
C. Stones D. Toys C. T=@=R D. @Lﬂ

36. Select the option in which the letter- | 36. T8 fd@cy g o JER—wE 99 YoR
cluster is related in the same way as is o # HaEa & o far T sER—ag
the letter-cluster in the given sel. Haftd 2 |
INQS INQS
A. FIMP B. PTWY A. FIMP B. PTWY
C. NQTV D. DHKN C. NQTV D. DHKN

10510804507 PA/AE
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37. Which of the following strings of letters ‘ 37. fA=fofag § @ a9 seR g@ar &
can be prefixed to the strings (IGHT), #@a (IGHT), (AME), (EW) 3iR (AT)
(AME), (EW) and (AT) to make q Ugel U I Y& dW, Gl
common words that can be found in el il sreseIer # 90 I Hahd BY
an English dictionary?

A. (BR) B. (SH) ‘ A. (BR) B. (SH)
C. (PL) D. (FL) | C. (PL) D. (FL)
|

38. Inalanguage, 'mohu rupt nyrk' means | 38, U@ @1 # ‘mohu rupt nyrk’ @7 3

'intelligent and hardworking', 'mohu triv qfgar iRk uRs#, ‘'mohu triv jech’
Jjech' means 'tests and examinations', 1 aref ‘adteror afte udert, jech lyge’
'jech lyge' means 'examination &1 aef “Tdem weT 3iY ‘stoj rupt’ @
questions’ and 'stoj rupt’' means -
‘intelligent answers'. What will be the ?j-i WEE P ’ g?m i
expression that means 'questions and | '
answers'? -
A. mohu lyge stoj ‘ A. mohu lyge stoj
B. nyrk rupt mohu | B. nyrk rupt mohu
C. nyrk mohu triv C. nyrk mohu triv
D. stoj nyrk rupt D. stoj nyrk rupt

39. Select the correct mirror image of the 39. &3 v HaoH @1 | guur wfafdd g+ |

given combination.

METALS METALS
A. GIATENM B. METALR A JATEN B. MEVALR
c. @ATEIM b. @LATEIN c. @AW p. @LATEIM

40. Suman leaves her home, turns left, 40, ¥ 39+ &= | FA@ell, ad 81, =R
walks 300m towards the north and ] 3N 300m Toil 3N HEIH T SieE=
reaches the Mahatma Gandhi junction. < =
From there, she turns right and walks 78 ;Té'l ?ﬁi a; Erﬁ Eﬁmﬁlg@ il
500m to reach a hospital to visit an i T ﬁm":
ailing friend. After that, she turns right AP TS Tgdl | SHE 91, TE <Y
to go to a supermarket. After shopping HEHY UH ngw%-e HTg | ﬁq'\"ql'cﬁﬁ q
from the supermarket, she walks WAEN T hare, 98 WY ot U
straight to her house. In which direction R TS | HEAT T W 9§ Srdre
does the road from the Mahatma :

D ?

Gandhi junction to the hospital run? o B we fw R § o ¥
A. Eastto West  B.North to South A. [ ufl¥fsw B. I Y @
C. South to North D.West to East C. BT 4 9k D. uf¥em 9 @
PA/AE 8 10510804508

UHINTEL R T



10510804508

41. Who won the US Open Men's Singles = 41. 2019 ¥ 3.U6. 39 769 (dhel RaamE
title in 2019? fae SArar?
A. Rafael Nadal A. el Fere A
B. Daniil Medvedev B. e #ged A
C. Andy Murray C. G
D. Nick Kyrgios D. A% o 3
42. Who was the Chairman of Indian Space 42, $¥RI (ISRO) gR1 =gy« 2 BvH @i
Research Organization (ISRO) when FY T B THY ARG IARer e
ISRO launched Chandrayaan 2 e (ISRO) & 3Ege] HiH & ?
mission?
A. Dr.K. Sivan A. @ & f4a9
B. A.S.Kiran Kumar B. T w¥. faRy &R
C. Shailesh Nayak C. a9 A%
D. K.Radhakrishnan D. &. IEHH
43. How many fundamental duties were | 43. 42 § GfAgE WAL & AR F ARG
included in the Indian Constitution Hfags § oo #ifera wden wfenfer
through the 42" Constitutional fady g o ?
Amendment?
A. 11 B. 9 A 1l B. 9
€. 10 B 12 C. 10 D12
44. Under which writ does the courtorder | 44. &9 @ife@ & sfdia e, &R
a lower court or another authority to e 41 5 o= wiReR F e
transfer a matter pending before it, 1o difda fet wrel &1 gem witsr ar
the higher authority or court? e H WEENd @ @ ey
qar 87 :
A. Mandamus B. Quo Warranto A. URATRY B. aifErer g
C. Certiorari D. Prohibition C. Iom D. ey
45. The famous historical monument 45. Ima 2R garr Ay wiig ofefie
'Buland Darwaza', built by Akbar, is FING ‘geic GRaral o WaY & ——
situated in the district of e
Uttar Pradesh. A S
A. Meert
B. Kanpur BT
C. Agra C. ST
D. Allahabad (Prayagraj) D. ZeTETE. (T
10510804509 PA/AE
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46. Which Sikh Guru's birth anniversary is | 46. &g g v & SUd [oRa WER
celebrated as the festival 'Gurupurab'? % TY H A8 A B 7
A. Guru Gobind Singh A. T TifEE e
B. Guru Tegh Bahadur B. % o7 §8IgY
C. GuruArjan Dev C. % 35 &g
D. Guru Nanak Dev D. % 6 ad
47. Which of the following folk dance | 47. 7 ¥ @I 9T wrded &Ramon I §
forms is NOT associated with the state Hafee a8l 8 ?
of Haryana?
A. Dhamal B. Khoria A. gHTE B. @ifar
C. Jhumar D. Jawara C. R D. war
48. Which of the following banks is NOT | 48, “Rd # =56 9§ &9 91 &6 @dwifis
a public sector bank in India? &5 FT 4 BT & 7
A. Allahabad Bank A. SAEEE d&
B. Punjab National Bank B. 99 Y d
C. UCO Bank C. Il d&
D. Federal Bank Ltd. D. Bevd d6 for
49. Which scheme was launched by the ‘ 49. 2015 ¥ guEEA g1 1R — ®iRe, iR
Prime Minister in 2015 for providing FH ag/nggatﬁ H 10 TG TP I
loans up to 10 lakh to non-corporate, FUT UG $3 & (o0 S99 o dIF 9
non-farm small/micro enterprises? I s @ g oft ?
A. Pradhan Mantri MUDRA Yojana A. WEFFEH HET Qo
B. Make in India B. #&$ 34 sfedn
C. Ujjwal Bharat Yojana C. I7a9 9N Tt
D. Atal Pension Yojana D. 3ed Y9 qran
50. Which of the following Commissions 50. 9% 9 g amam o fast & e
is mandated to recommend the AT TR He i e aifan]
minimum support price for farmers? T B ?
A. Commission for Welfare of A. fFar wearor s
Farmers
B. Commission for Agricultural Costs .
and Prices B. PR <IN U T S
C. Commission for Agriculture
Growth . C. 7 o smam
D. Commission for Agricultural
Development and Growth D. ¥ faem vd gfe 3w
PA/AE 10 10510804510

LD LR



10510804511

51. Prime Minister Narendra Modi launched 51, WEEAT Rg WGl A 2019 H

the Fit India Movement in the month of fire sfear Jaie @ goona @1 ot |
2019.

A. July B. September A. &% B. fadaw

C. October D. August C. &g D. 3

52. Who among the following developed 52. wrterdr &7 Rgia (e sife Rafefad)

the Theory of Relativity? 74 9 fhas grr ufa wifda faar mran
o1 ?

A. Madame Curie A. #eq ogd 21

B. Albert Einstein B. 3icac amEwmEA 210

C. Alfred Nobel C. J&bs AlEd 3171

D. Charles Darwin D. ared €ifdd 2/

53. In October 2019, the Ministry of | 53, uafaxvl, a9 vd Sieary aRads #=1c
Environment, Forest and Climate (MoEFCC) # afacay 2019 # wRd #
Change (MoEFCC) launched the first o1 ¥ fbe g ailR v e &)
national protocol to enumerate the HT B TMUAET B Bl TR A
population of which of the following urerdiel A faar o ?
elusive and endangered species in India?

A. Snow leopard | A. f&w dgan

B. Indian rhinoceros B. ARGE =l
C. Gujarat lion C. TORK I A7
D. Bengaltiger D. @ SETR

54. In which year was the River Ganga 54, frg a4 § w7y € @1 WL A4] uifba
declared a national river? oy o o ?

A. 2004 B. 2008 A. 20044 B. 2008 %
C. 2014 D. 2016 C. 20149 D, 2016%
55. Which of the following states are 55. =98 ¥ @9 9 W giage &Y 9 399
connected by the Palghat Gap? ‘ S EU S ?
A. Maharashtra and Goa A. HERTE 3R Tar
B. Kerala and Tamil Nadu B. & 3R daffearg
C. Tamil Nadu and Andhra Pradesh C. afferg 3R 3 W=
D. Karnataka and Kerala D. &ACH 3N Fd
10510804511 11 PA/AE
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56. Which of the following Harappan cities | 56. ESWIEIA &1 98 ¥ S G FR, o149
was divided into three parts? ArT # faaforg o ?
A. Lothal B. Mohenjodaro (A) dre (B) #El arer
C. Kalibanga  D. Dholavira (C) Brefig (D) srerrd
57. In which year was the Supreme Court | 57. &% $f3ar ®uh 91 fva ad # werpar
set up by the East India Company in H [aled AT @) WuET #ioofy ?
Calcutta?
A. 1757 B. 1765 A. 17573 B. 1765%
C. 17713 D. 1792 C. 17734 D. 17927
58. In 2019, who took the oath as the Chief | 58. 2019 % f&ua sRawn & g @
Minister of Haryana for the second w9 § T 9”90y ol ?
time?
A. Bhupinder Singh Hooda A. YfiueR e ggr 3
B. Anil Vij. B. e fawt =
C. Manohar Lal Khattar C. HAER dlel Wex A
D. Dushyant Chautala D. g=d =lerar A
59. Who was awarded the Nobel Prize in | 59. 2019 # wifecy &1 -al RN 78
Literature in 2019? ¥ &9 yerm fbar mar ?
A. Abiy Ahmed A. I JEEE B
B. Peter Handke B. dicy ge& &I
C. Olga Tokarczuk C. 3T SHRGDHH B
D. Bob Dylan D. 44 fea &t
60. The Indian cricket team played its first | 60. 22 ¥ 26 794 2019 @ WY fhde
ever day-night test match against & F A9 HaY UBA A o
from 22 to 26" November 2019. L} @ faeg Qo)
A. SriLanka B. England A. Hear B. 3wis
C. SouthAfrica D. Bangladesh C. oo T D, aireRw
PA/AE 12 10510804512
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63.

61.

T — Rl R T
A

In Microsoft Word, you can customise 61.

or choose predefined margin settings
by going to

Layout > Margins
Insert > Margins ‘
Review > Margins

OO w»

Draw > Margins |

. In Microsoft PowerPoint 2016, 62.

contains formatting,

positioning, and placeholder boxes for
all of the content that appears on a slide.

A. Outlineview  B. Slide format
C. Slide layout D. Slide master

In MS-PowerPoint, [63:

lets you copy all of the formatting from
one object and apply it to another one.

Format Style
Format All
Format Paste
Format Painter

OOy

. When you're using ' 64.

you'll always be running the most up-
to-date version of the apps that
Microsoft can offer. This unlocks
regular security updates, improvements
and more importantly, access to the
latest features and tools as soon as they
become available.

A. Office 2019

B. Office 365

C. Open Office

D. Cloud Office 2019

Microsoft Word #, 319

&1 F99 TN yd FeiRea 9
gl (A @féa) &1 ssfea
(@¥cHIgS) PR G & A1 g HHd 8|
Layout > Margins

Insert > Margins

Review > Margins
Draw > Margins

SN W

MS - PowerPoint 2016 #, 3
wige W fGwrg <5 arel Wi
it @ Eesy dfew fAfka & &)

A. JScalzA @ B. ¥iEE WiAe
C. WIES odee D, &I5E ARy

MS-PowerPoint #, YS!
s v | waw e (BiifET) &
B F IR g g vy §
&Y H HERAl Ve B |

A. WifE wIgd

B. Wife e

C. % T

D. wife tex

e g H WANT PR @
BI & T 31 Haq JISpIHie g1 Hega
fd 0 waif® sreee (ueds) twy
ool W8 Bid ¢ | 9% fafia geen secs
(3Ses), IR @1 UShe (3ei) B
g iR aifa wewayl Wy @, FdeEaE
faf¥reard ik g o & Suae B9
&, IIT SYFTH Fvar & |

A. Office 2019

B. Office 365

C. Open Office

D. Cloud Office 2019

10510804513 13
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‘ 65. MS-PowerPoint # 319 78 YA @

65. In Microsoft PowerPoint, you want to
ensure that your company logo appears ared € & s HuAr & ae e
on the right-hand top corner of all the (emm), feel waw wgfaerer § |
slides in a given presentation. Which wWigey & HU gl B W g T
of the following views would you use T Fe @ fore angs! fAefarfaa H 9
to do this? fas =g &1 s v B 7
A. Slide Sorter A. TAISS AT B
B. Slide Master ‘ B. ¥WIEE AREX @I
C. Notes Master C. ey AR &l
D. Outline View | D. 3rSedgy & &1
66. To insert a table of contents in a 66. Microsoft Word Zﬁlﬁm@fﬂgﬁa}
Microsoft Word 2016 document, you H gmfial @ afee e &9 &
would need to go to the fore, amgeT =Y o R Wl
menu tab. BT |
A. Layout B. Design A. RIS B. feungA
C. References D. Insert C. YR D. =&¢
67. Inreference to Microsoft Excel, please 67. Microsoft Excel & way #, @yl
see the contents of the following cells: fr=iferfea naveT ((ew) 91 wmfie 3 |
4 - 8 | A B
1 4 _ _E__{ 1 4 6
B s | s 2 5 =]
Cell A3 has the formula =A1¥$A$2. ¥t A3 1 g3 = A1*$AS$2 & prars
The formula from Cell A3 is copied to ‘ (@) A3 ¥ GF &1 vars (@) B3 #
Cell B3. The value displayed in Cell B3 i frar o &) yors @) B3 §
will be: wefdig w7 Tar 8 ?
A: 40 S ‘ A. 40 B. 20
Ca 0 P B C. 30 D. 48
PA/AE 14 10510804514
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68. is an established set of rules | 68.

that determine how data is transmitted
between different devices in the same
network. Essentially, it allows
connected devices to communicale
with each other, regardless of any
differences in their internal processes,
structure or design.

A. Network Software

B. Network Protocol i
C. Network Media ‘
D. Network Operating System

69. A
devices connected together in one

is a collection of

physical location, such as a building,
office or home. It can be small or large,
ranging from a home network with one

69.

et &1 vs il i @
ol a8 FEiRa & & & @ & dora
(fead) # A= Suwel & de ST
! fohg yer v far s | e
WY ¥, I8 Fafod Syl @ Aud §
HEWOT FX odl 8, 9el & I HiaR®

——U% Hifod w+, S Ha,

ST AT B H U AR F$ IUH
@ UPH WUE 8| UE BT A 49 B
aar & el e Suditedl § 9y
U & Holldl (81 Aicas) § dax 0D

user lo an enterprise network with | et AT faemer # ekt SuanTaa
thousands of users and devices in an ‘ 3N IyBNTl F W SEH ol
1 office or school. (Tewmrgs <ica®) & |adl & |
1 A. LAN B. WAN A. LAN B. WAN
C. MAN D. Cloud C. MAN D. Cloud
70. What is the full form of "TCP*? 0. TCP @ ot vy ¥ ?
A. Transmission Carrier Package ‘ A. grafiTE R Yo
B. Terminal Control Protocol B. effi9a dgd Werdie
C. Transmission Control Protocol C. graffes dgia Wermd
D. Transport Control Protocol D. TTHURE $gid Werdia
71. Which one of the following devices is ‘ 71. WR T § dgedt @ Ao
used for connecting computers in a star @ & forg fmferfaa # 9 fa Suaswo
topology? @1 wanT fear oar 87
A. Hub B. Repeater - A, B @ B. fRdrex &
| C. Bridge D. Router ‘ C. st @1 D. SR
10510804515 15 PA/AE
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T2

In which topology are all the network
nodes individually connected to a
central switch, hub or computer that

acts as a central point of
communication to pass on the
messages?

A. Star Topology
B. Ring Topology
C. Bus Topology
D. Hybrid Topology

72.

fr=fafaa # | fg et 4 i
Tolid |fedt (Aeas Ares) afdra u
W Ud Hard Raw, gq a1 YR 4§ G
gt & o wewf w uiRa & % forg
WO & UF Her fig & w9 4 o1
FA 8 ?

A. TR el

B. far errefon

C. 9 Sraral

D. sEfas &l

73. Aliyahas 2600 MB of data. Dineshhas | 73. anferm & urd 2600 MB €1 & | faser
4000 MB of data. The combined data % UTH 4000 MB ¥¢T 8 | 377 €1 &1 Se
would fiton a USB flashdriveof | WU W _____ HER &HaAl a1
storage capacity. v USB eier $18d # STl Wil Wbl & |
A. 1GB B. 2GB A. 1GB B. 2GB
C. 6GB D. 10GB C. 6GB D. 10GB

74. Which of the following binary | 74. F=feiea § & fsw fasmerd wfban
operations would give 111010 as the (@rg=rr STORer=) @1 9o 111010 BRTT?
result? (All numbers in this question are {39 wa & Wit He= fgemmd e
in binary number system) gl (@ e fwen) ¥ €)

A. 111111-1011 A. 111111-1011
B. 100101+ 10101 B. 100101 + 10101
C. 110001+ 10101 C. 110001+ 10101
D. 111101-101 D. 111101-101

75. The is a small program that | 75. UF UK B Y HUH 2
controls the computer from the time it il HRYEX B IW FHA H Pl Fwar
powers on until the time the operating 8 o tﬁ*" 3t g # Sk 7 .
system lakes over. Elﬂ 0 SIS RyeeH W oy oot

CEE G
A. CMOS B. BIOS A CMOS B. BIOS
C. EPROM D. POST C. EPROM D. POST
PA/AE 16 10510804516
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76.

77.

78.

What is the typical range of RAM size
in a standard laptop used for office
work?

A. 128 KB-256 KB

B. 256 MB-512 MB

C. 4GB-16GB

D. 128 GB - 256 GB

The part of the CPU which contains
circuitry that uses electrical signals to
direct the entire computer system to
carry out or execute stored program

instructions is known as:

control unit
arithmetic and logical unit
register

ey e P

program counter

requires constant power
flow in order to function. Because of
the continuous power it doesn't need
to be 'refreshed’ to remember the data
being stored. However, it is a volatile
memory, which means that all the data
that had been stored becomes lost once

76.

77.

78.

iffba & s § wavr by oM ae
wes ouerg # RAM F aeR &1 3
U T B 87

A. 128KB-256 KB

B. 256 MB-512MB

C. 4GB-16GB

D. 128 GB - 256 GB

CPU @1 gg w1 foras |fdedt &
B & SR o wuda W $
& a1 Fefea & & forg @ e
feew @1 el & & fog fga
Hahd BT FATT Heal &, 99 e 9 |
T W 87

. g e

. Refes s wiforsa yfae
foreex

. WU Srgex

= >

o 0O

& BH B EH & o
TR gy Iyl Y snaasar gedt
§| smaR faggd gy & wE &
HNY 59 F Y Heilkd fHy @ a
T B AR vEd F fog dwwr 9
TRl YT 2 | Blciiih, I8 T JAReR
W At 2, g aedf 8 b va ar

LARE L R L

the power is cutoff. ﬁq‘gﬁaﬂqﬁaﬁﬁ 1 R g e
R ST i & w2 |
A. DRAM A DRAM
B. SRAM B. SRAM
C. SSDRAM C. SSDRAM
D. SDRAM D. SDRAM
10510804517 17 PA/AE
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79. A multitasking operating system means

that:

A. multiple computers can be
networked together.

B. multiple people can use a computer
concurrently

C. several programs can be operated
concurrently

D. the operating system can divide

work between several CPUs

80. Which of the following statements is

NOT true with regard to the Auto Filter
option in Microsoft Excel?

A. By filtering information in a
worksheet, you can find values
quickly.

B. You can set a filter on one column

of data at a time.

C. You can control not only what you

want to see, but also what you want
to exclude.
D. You can search for text and numbers

!

| 80.

HeeleRaT SfRfen fves o1 aef 98

g fm:

A. B% FYSN P! TP A TS fbar
T T B | -

B. ®% @1 Ud HYEX BT TP A
TN Y G & |

C. 9gd | HHE &1 U | qdrel
forar o |Har & |

D. sifqRfen fawew, fafi= CPUs &%
a1 M @) Ao o aaar

Microsoft Excel # aifer fibeey fA@eg
# way ¥ f=fefaa 4 | o9 W $u=
e el 8 ?

A. Tl ahdie 3§ ga & fiheey
T, Y 3fed 9 @1 Wies W
TR Ghd & |

B. 39 U §HY H ITT & UPH Pie
W U& fiheew ¥e & dad & |

C. Y 7 Hael 9¥ fafa o uaa &
W1 A9 @1 ged & dich 99 ol
W Y & @A FIEd € |

D. 3y sifer fheey fawey & wanr

using the Auto Filter option. TV Cove AR Ty et Hand & |

81. The second generation of computers | 81. HYex &l a9 diEl TR

were based on amenfRa ot

A. integrated circuits A. uiEd gRuef

B. transistors B. W@

C. VLSI chips C. VLSI fasq

D. vacuum tubes D. fdra aferammai
PA/AE 18 10510804518
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82. Which one of the following input  82. & % =i & Gt & & foig
technologies do banks use to process ‘ d% frefafea 4 @@= O Pfake
cheques? ! TP BT TATT HRd & 2
A. OCR A. 30 9. aIN. (OCR) &1
B. MICR ‘ B. A oS, ¥ 3R, (MICR) &1
C. OMR C. 3 U4 3R (OMR) &1
D. Pixels D. fades &1

83. In the context of computer processors, ‘ 83. HWEY WEME & Wed #H ALU &7 qu
what is the full form of ALU? E|o R’ e ?

A. Arithmetic Logic Unit A. tRemiees wifsie gHe
B. Array Logic Unit ‘ B. W dffors gfe

C. Application Layer Unit C. USiheA o e

D. Application Layer Usability ‘ D. UeliHee eiR gufafad)

84. Which one of the following is NOT an 84. Fr=faies § § @1 1o waio 994 A1
Object Oriented or Object Based WG METRE AR (SranfHe) A
Programming Language? ‘ T8 R 7
A. Perd A. T
B. Ruby B. o
C. Python C. urgeH
D. C i 3 X &

85. Which of the following binary | 85. F=iferiead % @ @1 6 fasmurd wishar
operations would give 101011 as the gRerH &EY 101011 <M P(Ew g A
result? (all numbers in this question are Wi W fgamard s yoed § §)
in binary number system) ‘

A. 100010+ 11001 A. 100010+ 11001
B. 110101 -1010 B. 110101-1010
C. 101111-1100 C. 101111- 1100
D. 100101 + 1010 ‘ D. 100101+ 1010
10510804519 1‘9 PA/AE
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86.

is the number of bits
in the internal databus of a processor.
It is also the number of bits a processor

86.

—— U GUNEE B NG ST 99 §
ﬁﬁﬂ%iﬂwﬁﬁﬁ%luﬁﬁ?ﬂﬁﬁaﬁ

can process at a time. HAHINT ¢ Ghdl £
A. Control Unit A. v gord (B0 gfe)
B. DataLength ‘ B. =T &ir
C. Word Length C. g8 oy
D. AByte D. & 95e
87. What determines the number of ‘ 87. ﬁﬂﬂﬂﬂwmuﬁ-‘[mzﬁﬂm
operations per second that a processor arel wfcparall @ wen @1 FaRor s
can perform? It is expressed in g fabar wren & ? 39 WEest (MHz)
megahertz (MHz) or gigahertz (GHz). ‘ a1 frmeest (GHz) % &rh flbar e & |
A. Clock Speed B. Bandwidth A. wie we B, dsfey
C. Frequency D. FLOPS C. st D. %4 (FLOPS)
88. Which one of the following statements ‘ 88. MS-DOS @& 4R # Fifcifaa # & @i
bout MS-DOS i 2 W o
about 5 15 lrue: A ﬁwwm@mm
A. Itis an open source software. e 8|
B. Itcan multitask. ‘ B. I]E."QT:E- T S HFH-II.W T & |
C. TthasaC d Line Interf G SOUR ks
. It has a comman Ine interface. (HFFHE’ A W} E\HT %|
D. It supports multiusers. D. ¥% s 9 s Syidarsit &1
‘ Rl el B |
89. Which of the following statements Q9. witer & Y ¥ Fyfafyg % | 9 @
about kernels is INCORRECT? HU AT & 7
A. It is a computer program that ‘ A. T U HREN HARY (M) § o
coordinates all executing utilities. o Frenfee SR (‘@ﬁ:‘r&’ﬁ[)
B. Itis a computer program that &1 A9y Feel ¢ |
controls all computer operations. B. IE U1 HRfex AR (Ham) & S
C. Itisacomputer program that ol e wErerl b Al v E |
schedules and manages all system C. T& T SR HAe () & S
frocesses. Y yorrelt witharsit &1 AuiRea ik
D. Itis a computer program that TR ‘l e & | n
provides an interface between a D. & e Hg I )._g
< SUARTH! SR FEI YOl & 4
user and an operating system. ,
| Ueh IKRIBeTdh STeTa el &
PA/AE 20 10510804520
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90. To create new volumes and format a
new disk that you just installed on a
Windows 7 computer which tool would

you use?

A. Disk Utility

90. 39 3pfi—spft fies 7 dwer # o
fewr wenfua (3<ia) M 8, S§H =Y
we (dfegn) a9 iR &t &1 Hwlta
(Gilfe) @v & forg oy Frefeiae
¥ fw e (Ge) @1 wEn o ?
A. & gfefadt @

B. Format B. Bie &l

C. Disk Management C. f&w #-ove &1

D. Disk Manager D. &% #For &1

91. The first generation of computers used: 91. usell Ndl & S | &1

wanT faar e on|

A. vacuum tubes ‘ A. fdm Aferratt (@ege egea) @1

B. transistors B. nueEa (gifored) &1

C. semiconductors C. Jgdarcd! &

D. mechanical gears | D. wifFe fray &1

92, Which memory is NOT primarily based 92, Fr=feles 4 @@ &9 @ wfy (@)
on semiconductors? I &0 WY | g Ared W oameniRa TE
A. Main Memory Bl 8 7
B. Cache Memory A. eI i ()

C. Secondary Memory B. gt (%ﬂu i)
D. Registers E mﬁgw ()

93. Fiber relies on instead of ‘ 03, $eT HaR F fore wrgaw frgm @ snen
electricity to transmit data, which — W iy 2 & S oY 9=
facilitates much faster internet R F 99 gevie waE @ gl
connections that are capable of handling e Ear /A & o vey defiey e
higher bandwidth. % e i
A. electricity | A. R
B. light B. W&

C. eclectromagnetism | C. fga—gas
D. magnetism D. gd95d
|
10510804521 21 PA/AE
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94,

95.

96.

Which of the following cloud
mfrastructure provisioned for exclusive
use by a single organisation comprising
multiple consumers (e.g., business
units). It may be owned, managed, and
operated by the organisation, a third
party, or some combination of them.
A. Private Cloud

B. Community Cloud

C. Public Cloud

D. Hybrid Cloud

What is common between Chrome,
Safari and Opera? They are all:

A. web browsers

B. search engines

C. social media sites

D

. web services

ADSL provides

rates in the downstream direction, from

data

the central office to the end user, than
in the upstream direction, from the end

user to the central office.

94, Fr=iforiiaa 4 9 F9 Foes ENE

96.

U (FATSE SHGEN) d aHE
IyTTETRl aret faf uee Eired
(SETERV— AGHAS FHigdl) SR AT
JUANT HRA H UEE 8 7 ug [
e, J 98 1 91 @ A g
Wi ¥ W, veEd SR wafea f&ar

. W, GBI 3R SR & " 991 FEEar

s?a e E?

A. 49 faw® (@9 srov)

B. @it g9 (wd i)

C. e AfEar faaru — e (AEcH)
D. a9 Harg

ADSL o1 =t @ sfm
garhl W durd FH— W d@ IURTre
fRen @1 e IR FH-wd § If0H
waTehl o T e d e e @

A, JER
A. higher B. freaR
B. lower C. TR
€. equal D. wegaR a1 fea framr aiv e
D. higher or lower (depending upon HeRor — ufemr (2fhe) T fRR)
provider and traffic) |
|
PA/AE 22 10510804522
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97. In web development, a is | 97. 99 fA®HM A — Ud HHR B 99 WA
a web application that combines (T<iihe) & W Uad foraee siaRses
multiple services to create a single new (Rt mftbepet sexww) 9 waffa gaa
service displayed in a single graphical A1 AT BT YT B & 10 g Hawsi
interface. T FAITT FeT & |
A. Multicasting A. H) HIiveT
B. Moodle i B. #&d
C. Meme ' C. 9%
D. Mashup D. #3Y
98. The terms 'crawling’, 'indexing' and ‘ 98. ‘wiferi, 'gefenr 3w FHT veg fby
‘ranking’ are related to: Y Hafae § ?
A. phishing | A. st (ffEET) @
B. search engines B. @i s9+ (94 sfo) &
C. browsers C. Revst (o) @
D. internet service providers | D. gev-ic Har YeTasii 4
99. What is the keyboard shortcut to paste 99. Microsoft word B18d # faeuare &
the contents of the clipboard in a ‘ aEd B e & @ fore iy aare
Microsoft Word file? vifdde &1 wanr far omar & ?
‘ A. Ctrd + P | A. Ctrl + P &0
B. Cul+V ' B. Curl +V @1
C. Cul +C C. Ctrl +C &
D. Curl + X D. Ctrl + X &1
100. When entered in the cells of a Microsoft 100. 5@ Microsoft Excel a®3iie & Womaf
Excel worksheet, numbers are, by (Fow) ¥ dend ufdwe & ot & ar g
| default, yd FeiRe Refy (a1$ RBwiee) s/ ——
il & |
A. leftaligned A. € 3R WfRad
B. centre aligned B. ¥z § Wfta
| C. rightaligned | C. ard R ki
D. justified D. w4 urdfa (GRewgs)
|
10510804523 23 PA/AE
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frafafle P e wam @ 0% .

| 1. Out of the four alternatives for each question. only one circle | 1. Wﬂ%ﬁﬂﬁ'ﬂﬁiﬁﬁﬁﬂﬁ#ﬂﬁmt

Read the following instructions carefully:

for the carrect answer is to be darkened completely with
Black Ball Point Pen on the OMR Answer Sheet. The
answer once marked is not liable to be changed

. The candidates should ensure that the Answer Sheet is not
folded. Do not make any stray marks on the Answer Sheet. Do
not write your Roll No. anywhere else except in the specified
space in the Answer Sheet.

. Handle the Test Booklet and Answer Sheet with care, as under
no circumstances (except for discrepancy in Test Booklet),
another set will be provided.

. The candidates will write the correct Test Booklet Series as

given in the Test Booklet in the Attendance Sheet

. Each candidate must show on demand his / her Admit Card to
the Invigilator

. Mo candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her seat.

. The candidates should not leave the Examination Hall without

handing over their Answer Sheet to the Invigilator on duty.
Cases where a candidate has not signed on the Attendance
Sheet will be deemed not to have handed over the Answer
Sheet and dealt with as an unfair means case.

. Use of Pencil/Electronic/Manual Calculator is prohibited,

. The candidates are governed by all Rules and Regulations of
the Commission with regard to their conduct in the
Examination Hall. All cases of unfair means will be dealt with as
per Rules and Regulations of the Commission.

10. After Examination is over, candidate has to retum his Answer

Sheet to invigilator, Invigilator will hand over the Candidate’s
copy to candidate, then only candidate is allowed to leave the
examination hall. Candidate is only allowed to take Candidate’s

copy of answer sheet.

11. Candidates are not allowed to take Test Booklet with them.

They have to submit the Test Booklet to the Invigilator after
the axam.

o0 30, U0, 3. IR T O Haw U A el gl
TE HT ar g 19 @ 4 | 1@ 3R I s
T ¥ % 39 a0 A6 o §FaT 2|

. wiandf ghfia st @ o we S E AT E I

R @ o e 7w | ol s seie
R v A Puffe = & aftfea omw 7 v |

. e yfteeT wd 9T g @1 eEgde e Y

i fislt 1f ofyfRefa & ( Fraw wlan ofve &
@1 31 & ) gad! Tilen gt Ud S o Juee
T} ST S |

. wite gftee A ) e wdten g € @ adtamdf

e o & SR s A |

. R wvEe uliend, sy sdes S s e

= faan |

. a1 By sy & frdw orpnfy & e

e s RA A ER |

. FRE w4 0N B I I UEe fau e

wdtard] o wr € S | i e o 3
o o W gEnaR el 6y A gy W Enem #
T g A T A § iR g srfa T
HEE! WAL S |

TR / seEele [ g GRbad & I
EiEoh

. e gYe 9 amem & fog aftemd smam & it ol

et fafereit g Profiva 3 |orifee et & anft et
1 e s & P! ud R & sgEr e

10. oiian & guaia sonll oot e By smdeE S e

T | srrdiee g anandf &) I @1 snadf ol
et ufty gwa Hé st o e gwE @ ey
FIB1F I el f e | TR =S 9 snad oy
pul @t o1 Wy @ W 1 el g

1. wften & Iwwre wftend 1 whan g o

s=flyw @ drest et oftan g @
gl s wu i danwed § 1
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